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I1] Woide a repalir defindtion to represent unslgned numbers in Paseal swch s J280,
59.57, 633.6E4 or LEME-4, (9%

2] Consider the prarmmar 3 - a3hs § b8ud| £ [15%44
o) Shoow that this grammnae s ambigoous by consirsting tora diffezenl leflnost

derivations for the sentence abak,
by Conzlruct (e coreesponding rightmost derivations for abab,
) Construet the comesponding parse trece for obikb,
[}] What ace the shlfieduce conflict and redecafradises conflivd in Bollam-up

parsing Y[ 5%}

(4] IR process state diageam, FETTIEUF (evenls), fEsdsms
prgccss slate Lransition TRIIA, ERIFIE process siate diagram .
{17%)

(&) time slice expires

ch)y 1M completion :

tel A Signal{semaphore) operation cuecuted, the semaphors valoe Secomey -2
td) A Signal{semipiare) operation execured, the semaphore valup Bogoses +7
(el o Wait{sensmphors) operation execuied, the semaphorte valuc becomes «3
{1y & Wait{sezaphnre) operation eheculed, [he scmaphose value becomes 3

[3] ®We tan Tescrve some main memely ared as a vizioa] disk, whick caa be
sl 48 an ordinary Jdisk to store [iles. Tn gewcral, the [0 sysiem oy
Tibe tervice in % computer incledes file syitem. cache manager and disk
deiver,

To aogport vistoal disk [F0 seevice, whas woold b the pequiTed
syitem compomenks ¥ o(Flease shew the syslem sivgoture wilh a disgran)
what arc the functions of gach system compoment T {195

[&6] Far a mizra-kerne]l based operating systes as shown below, please desgrihe
the detasled mechanism Chow 1he conteel is passed among cach zoftware
modale) of a system call,

What are the main disadvantages using such approech fin Comparizoa with
large kernel approzch) 7 [13%}
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[7] Pleasc draw a disgram and gxplain the concept aad {rs apzlicztions of
an indexed sequentiad file. [10%)

[8] For a Binary tres shosn elow, pleasc wse an arcay Lo coprosent this
tinary tres. Only the information fizld (o poeintces or ligk Fields) is
tnzlikded in cach elesent of the array.

Please show this array o repeesenl zhe bipaty jree aad explzin it
Bricfly. (B

(%] In a compuiec supportiog victual semory, the concepds of virtuwd?
address space and ceal =ddress spaces wiil cxist. 88

[3+1] In soch a system, the assemblec woold assizn addreszes to variabics
during assenbling programs, Lhe addresses assigned would roler 10
(a) addresses in the real address space
{2} addreases in the virtuab address spaca
() the [we answers above would bath be possible

[#-2] tn such a system. dhe linker would do address relocalion doring 1igking
progTaEms, tle addrosses modified wouid refer to
(2} addyessce in the real address space
thl addecsses in the wirinal address FDACE
£} the two answers alove would bodh be pozzible

REEE Mo Fleage chocse the best answer and explain briel|y, 44++-




